1 -1, 0, 1, 2, 3} ol ti5t] x o] Y4 x
S H7|e} Zol -2 uff, o] F X of|A] v 22




® y=x>-3x+5

® y=x

® xy=2



@ a,b,c @ a,c,e ® a,c,d @ b,c,e ® c,d,e



no=
rlo
)

o
o

=
~—
|

=1{1,2,3,4,5}, Y
-2/ o8 Fod o, v F

{f(x

=10,1,2,3, 4}l tsto] g4

|xeX}—1%
@ 3 ® 4

XHY7
) obd



o|J

ZHoleh. x+y o Fr2?

Y

@ 2 3 3 @ 4 B 5

@D 1



X ={1,2,3},Y = {1,2,3} o tjsto] g4
SohH?

@D 6 7 ® 87l ® 18 7}

f:X->vY9

A

@ 2478 & 277

3



XolA X 29]

o =
o

=1

{=1, 0, 1yl Histe] o

® f g h

@ f. h

@ f

® g, h, k

@ f, hk



(x) =2x+1,g(x)=-3x+29

g 4
it
4>
\h



9.

Sh
=1

T f(x) = 2%+ x =2 o Hisked £(£(1)) + f(F(-2)) <] WL

D -4 ® -2 3 0 @ 2 B 4



:x2_x’g

-1

(x) = 2x+ 1] thote] (fogo f)(1) 2] gk

3 0

@ 1

B 2

O
-

?






Fe7ty = -5x+7 4 o,

[« 3

A}

2~
o

p.q 4



13.

D | Qo



14
. o
(f%1
of ‘aj—g
og)‘L .
(09 g
e
. f(x),y
= g(x
)
Y=
x9]
a
o
molr}
.ol

yl




2x2 —10x -
5, 8(x) = =x> +2x+100] A2

o
N
o
—_
N
K
(R
=L
f N
A o
__OD VA
ET __OH_
<
o T

@ 170 3 27 @ 370 3 470

D o7l



12x+7

5t (g0 f)(x)

dx+a°ll

B 5

@ 3



17.

B o

2~

e
o

—

f(x) =2x+6, g(x) =ax—1°] ot fog=gofd i, a 2]
?

| =
| ot



o, f(3) ¢l #k& F-5Hd?

@ 4 B 5



19.

4 AA
[qL £2006(2

2F)

D 2002

9
)

U R A R 29

o ge

@ 2004

3 2006 @ 2008

7t fix—>x+1 2 F0H

AUAT (R, 1 = o fH = fofrn

3 2010



=lx-1]-29 2z} A y=mx+m-1°] A& &

Wy

+ ﬁoﬂj\-] El_h’]'l:n_%m _0,1 %I_O,] ]:H-A% 3]—%

® -1<m<0 @_1< <1 @_1< <1
m 5 m : . !

@® 0<m<1 G 1l<m<?



Gy=—lxt 1143 9] HHgLe T

Sk
=

21.

@ 2 3 3 @ 4 B 5

@D 1



37

o o O 3
=
- [e) ]l,__.?_




ey =lx-3|-1°] tst] 0<x<4 &, o] e=of Tzt

y
#gke A H = FohH?

N

D21 @ 2,0 ® 2 -1
@1, -1 ® 1, -2



@ 2 3 3 @ 4 ® 5

@D 1



—

72

i

HollA 21 2

TR

ol

o

@ y=Vx

@ y=x?

@© y=x

— | =

®y=

@ y=2x3



26. T f(x) 2 eg(x) 7F o AES HEARI,

I f(x)&g(x) = F717F 29 F718k4olch
I. Jo]o] A4 x of thste]
f(=x) = f(x) , g(—x) = —g(x)

f,

o

4 f() 9 g() O Tefme] Au} A7t e B

r(e(-3)) 1 ae Tt

’y‘\ ry‘\
1 1 | _ _ _y=g(x)
W(x) .
|
|
o 1 7 0 T 7

o

JURN
©
JUIN V)



27.

@y:x4—3x2 @y:% @y— .X2+1
® y=4x @y:% @ y= i3
® 6,006 @ 9,6,0 ® 0,0 6




28. F717F 50 &4 f(x) ofl Hiatel o= 5 f(2006) 7+ &
H?

-

O 1y @ f2 O fB) @ f4



: A - Ao Histe]

15=7

@ 374 @ 6 714

® 9 7}A]

® 2714
@ 8 717



{
TR
of
Nfo
<F
oA
o
~
o
o
my
=
N
<
TR
D
B
% o
T
o K
o o4
P~
s BK
L ok
!
S

© (gof)(x) © (gog)(x)

@ f(x)g(x)

A (fof)(x)
@ {0}

@ 27 3 374 @ 474 ® 574

@D 17



31. y=x-[x](0<x<4) 9 Ij=& Jd o, JH=
(1= x B} 37 e 2tf H)

@D 2 @2\/5 ® 4 @4\/5

® 8






FEFy=lx-11, y—[}/]:m} o] WA 9] A

(&, [ = x 8} 27 e 2dje] g4olrh)

@D 178 ® 2 74 ® 37 @ 4 7

ShH?

® 5 78



©°
)

34. o

I.y=2Ix+1

I.

M =2x+1

I |y = 20 + 1

@ I I @ I,1 ® I,II

I



35.

Aol d g olg ¢
fn+2) = f(n+

1)+
gHetol 22 2L (2

1__

@ 27(6) @ 2f(7

ot f 7F Lo 9] A4 n o tisto] A4
f(n) < HST o, b3 F 21(4) + 3f(5) <
o f(1)#0)

Yy OB () @ FB8 ® f9



- A F XA Y22 g

O
)

36. o

O X

@ X

® X

© X

® 0,6 ONCNG)

® 0,0

® O, ©.6

@ (A, 0,



= o <

8 O o

(8]



v

7k of

S F XA Y=o g

O
)

38. o

—

—

i

N

~

™

Aam!

~—



ol
i
ol
o8

ol
No

O Do = oo <

T
ol ~
Y

Tod Mo N on <

olo

o|J
Y

=
o

oln

{1, 2, 3, 4} o|t},
{1, 2, 4} o|t}.

Zrolet,
@ A1, 2, 3, 4 °|th.

=
ez ]
-

[

@
@ A]



, 2}l thste] x oA ¥ 29
94 x| oS Sot?

@ {0, 1, 2



Q@ x—->x-1



@D 174 @ 274 ® 371 @ 474 ® 574



[6) 3
-3

® 7 o
@ U ot

® o, &, ot

@ 7h o, mt

® 7} uf



©® 0 6 6 ® 0 6 6

® ©, 6, e

© O 0 6
® O, ©, @



45. o5 I Z Fol|lA o] 2 n?




H|

TR

-1(0 T



A X = {adek A5 ol ste] x o4 x 29| F3 f £ A4S
Foleh. £(2) =2 A W, (1) + £(3) + £(5) + - + £(19) o] B2
ufelz}?



—_

EHO

3

ol

Fol X oA Y 29

S

X =1{1,2 3, Y=13 4 5

s

2 74719171

olJ
olo

@ 7 3) 8 @ 9 3 10

@D 6



S
T

S
=

S

{1, 2, 3} ol tiste] X oA ¥ 2]

Y

@ 3 3 4 @ 5 B 6

@D 2



X

& 183 Zol

50. t+

a® F2?

LSS
L

Fol (fo f)(a) =3 °l

S

o

el B R )

AN

= N o

@ 2 3 3 @ 4 ® 5

@D 1



